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One who throws. - 9935 NIRTWIIA SN TR P
How is it; two balconies, etc.

OVERVIEW

The 71wn states if one throws from a *"777 into another *"777 and it passes through a
7"77 (which is between the two *"'717) according to X2°pY "M he is 211 and the 2 1om
are 1010. The 7wn continues to give an example of this case where there are two
MRV one opposite the other in a 71"77, so according to the o°»35m if one throws
from one X7UNTA to the other he is Mwd. Our MO0 discusses whether this is the
appropriate example for the dispute between ¥" and the o°%om.

nvoN asks:
- A9UN NONY 3199 1NVITPA (x,797 y5) 1939 RISPY 2397 XNNYO Y711 Ha9Y NN

It is astounding! According to ;729 who established that the dispute between
33271 ¥'"1 is regarding 7wwp and they argue in a case where it traversed the 7"710

lower than ten o°nov from the ground -
— DIWHIN INDP ND NNT 1899 999V 'IN NY

The term '7%%2' is not appropriate, since it does not reference the previous case
of the npYorn between 112 3" -
= ZMDIPT NOIIT NIVYN NHYNY MRV Y9N NINT

For in this mwn we are discussing nR“urs which are higher than ten omov

above the floor of the 7"717, similar to the wagons in the 1wn -
= 3007 N7 993 N2YPY 229 199N

So even ¥'"1 will also admit in such a case that he is 715 -
= 999 NN NIYYN NYYNY HNrnNbe P 1N)351

However according to the one who establishes the dispute (between 1127 ¥'")
above ten o°1dv the '7¥°2' is appropriate.

! 019p means captured (in the airspace). ¥ maintains 7 anNAw nd TP (if something is captured in the airspace
[of the 2" (in this case)] it is considered as if it landed in this mw"). Therefore if the thrown object traversed the
1 avn? 7", it was captured in the 2" 2R (which extends up to ten 2°niov above the ground), it is considered as if
it landed in the 1"77 so he is 21 for *"7717% *"7w AR¥II (and also for °"737% 7"77n 70107).
2 The mawn states that if the NIV were NAR Xv1°72 then one is 271 for W W, for 11 NYPAY SN 2357 NTIAY 09T oW
D R 2P PYIRR 23T MRS 7 NN, The M2y were ten 0°1dY high, therefore the ML were also n aoynb.
3 If the two MRIWTIA are " 77y then the object traversed the "n 77vyn% 7"717, at that height it is no longer a 2", but
rather a o DWpn, so if we say IANAW M AV in a MWD 0P, he will certainly be 1w» (since it is permitted [even
7onn37] to carry from a *"71 or a 1"77 into a Mws P» (and vice versa).
4 In actuality in the X3 there, 721 posed this query whether the npY2mn is "1 7un> (regarding 7wY2P) or "» 75vn? (and
they argue whether vWn Py 11°97°), and the X3 concluded that 1727 resolved that *»%9 “n qunb. [There was no
actual 7"n (there) who maintains *»%5 "n 179915.] See (however) the X713 on X,T¥.
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Mmoo offers a resolution:
= 7899 235 XY NN T899 N7 NIIN 591Hwivra v 1)

However in the %21 71150 it states; there are those who read in the 73w the

word '7x%2', and there are those who do not read '7x%' -
= 1855 NI NIYYN NTYNRY NHND PIMT NN NINNT 0NN W91

And the n%v1 explains there that the X928 who established their dispute

" 7oun® he learns '73%2' for the mxawnma (and the np1onn) are (both) " Toyn® -
11859 6535 N9 NIUYN NVNY 1Y *PINT RN

But that XX who established the '» mun® nponn does not read '72%' in the
mwn, for the case of mxwN (which is "n 7%ynY) is different from the n9nn between 1327 3"
(which is "n nunb).

SUMMARY
The "7%°2' by X012 is appropriate only if the NP2 is "n 72917,

THINKING IT OVER
Why cannot we say that the '7¥°2' is explaining when everyone agrees that he is
wp?’

3 X"73 Ppoa. In our print X,70.
¢ The case of MM ("n 77v1?) is separate and distinct from the npYnn in the X ("1 7wR?).
7 See 11277 X°¥22 'Maa "7 2,7 270 WO,
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